Brilliance Tuition Centre, Redbank Plains

MATHS WORKSHEETS- NAPLAN- YEAR 5 MODEL QUESTIONS

Answer the following questions.

1 | Tom played two games. He scored 36 points in the first game and
12 points in the second game. Which number sentence could be
used to find his total score?

(a)36+12=48

(b) 36-12 =24

(c)36x12=432

(d)36+12=3

2 | David deposited $2 in the first month in a bank. In the following
months, he puts double the money of the previous month. The
total amount in his account is

(a) always odd

(b) always even

(c) sometimes odd and sometimes even

3 | Rani has more than 720 pencils but less than 734 pencils in her
bag. Which of these could be the number of pencils in her bag?
(a) 722

(b) 714

(c) 736

(d) 735

4 | Balance the following scale:

15 gram + gram =42 gram

5 | Roy travelled five thousand and eighty-nine kilometres from
place A to place B. This distance can be written as

(a) 50089 km

(b) 5890 km

(c) 5089 km

(d) 589 km

6 | Ramu has 45 litres of milk in his milk container. He poured some
milk into a bottle. Now he has only 38 litres in his milk container.
How much milk did he pour into the bottle?
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7 | Jancy buys the following items from a shop. She gives $50 to the
shopkeeper. How much change should she get?

Nail polish -$4.50

Handbag- $ 23.40

Bread-$2.10

8 | John has 20 cakes. He shares them with his 4 friends. How many
cakes does each friend get? lIdentify the correct number
sentence for this problem.

(a)20+4 =24

(b) 20-4=16

(c)20x4=80

(d)20+4=5

9 | Diana has 56 ten-cent coins in her purse. How much money does
she have altogether?

10 | Anna gets 10 cents for every plastic bottle she recycles. She
recycled 20 bottles. How much money did she get?
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Answer Key:

1 |(a)36+12=48

2 (b) always even

(a) 722

4 27 gram
(c) 5089 km

6 45-38 =7 litres

7 = $50- (4.50+23.40+2.10)
= $50- $30

=520

(d)20+4=5
56 x $0.10 = $5.6
10 | $20x$0.10 = $2
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